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Maschinen-I1D Datum
G’estmaschine 0815 ) (23.01.15 11:33 )
Unternehmen I\
(M uster ) - |
Bediener
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Drehzahl Winkelfehler Versatz

(min-1) (mm/100) (mm)

2000-3000 0.07 0.07
\_ J
Seriennummer: 14060013

Ergebnis
(Wie bestimmt Vertikal Horizontal ) ( Wie korrigiert Vertikal Horizontal )
Winkel (mm/100) 0.03 v| -0.01 v | | Winkel (mm/100)
Versatz -0.06 v| -0.02 v | | Versatz
Frontful® -0.02 -0.04 Frontfu
| Ruckfup 0.01 -0.05 ) { Ruckfup y

V-Winkel 0.03 mm/100
V-Versatz -0.06 mm

= -

H-Winkel -0.01 mm/100
H-Versatz -0.02 mm
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